recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:				TITLE OF INFORMATION COLLECTION DOCUMENT Reporting and Recordkeeping Requirements for 7 CFR Part 29						омв NO. 0581-0056			
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.									DATE PREPA June 18				
IDENTIFIC	IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT				ANNUAL BURDEN								
					RECORDS								
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)			
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)			
6.9													

(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
29.3	Application for Extension and Price Support Service (Loss of Authority)	Letter	0	0.0000	0.00	0.0000	0.00			0.00
29.59 & 29.60	Application for Permissive Inspection Service (Transfer burden from TB-87 to voluntary)	Letter or Oral	50	23.0000	1,150.00	0.2500	287.50			0.00
29.63 & 29.126	Withdrawal of Application for Permissive Inspection	Letter or Oral	5	1.0000	5.00	0.1700	0.85			0.00
29.68	Advance Notice of Inspection Certificate (Has not been used. No burden estimate)		0		0.00		0.00			0.00
29.74	Referendum Ballot (Loss of Authority)	TB-210	0		0.00		0.00			0.00
29.75	Accessibility of Tobacco (Loss of Authority)	None	0		0.00		0.00			0.00
29.76 & 29.77	Mandatory Inspection Ticket (No burden determined. See Justification) (Loss of Authority)	None	0		0.00		0.00			0.00
29.79	Mandatory Inspection Ticket (Loss of Authority)	None	0		0.00	0.0000	0.00			0.00
	SUBTOTAL				1,155.00		288.35			0.00
	TOTAL OF ALL PAGES				2,375.00		2,850.85	40.00		1,000.00

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUMMARY	OF INFORMATION COLLECT	TION		Pa	ge 2 of 4
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c			2,415.00	3,850.85		

recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:					TITLE OF INFORMATION COLLECTION DOCUMENTReporting and Recordkeeping Requirements for 7 CFR Part 29							
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT	ANNUAL BURDEN										
					REPORTS				RECORDS			
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D × E) (E)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)		
29.90; 29.91;	Appeal to Inspection & Investigation (No written appeal has been received in the last 11 years and we do not anticipate any in the foreseeable future). (Loss of Authority)	(6)	0	0.0000	0.00	(0)	0.00	0		0.00		
29.129	Request for Biographical Sketch for National Advisory Committee (Discontinue use because of loss of authority.)		0	0.0000	0.00	0.0000	0.00			0.00		
29.402	Advance Notice	Letter or Oral	40	15.0000	600.00	0.2500	150.00			0.00		
29.403	Accessibility of Tobacco	None	40	15.0000	600.00	4.0000	2,400.00			0.00		
29.405	Inspection by Submitted Sample	Letter	2	5.0000	10.00	1.0000	10.00			0.00		
29.407	Import Tobacco Inspection Certificate	TB-92			0.00		0.00	40	25.000	1,000.00		
	SUBTOTAL				1,210.00		2,560.00	40		1,000.00		

recordkeeping req	5: Use this form when a single information collection document ir uirements. The totals of the figures in cols. should be entered in it	em 13 of OMB-83	eporting and 3-1:	TITLE OF INFORMATION COLLECTION DOCUMENT								
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (C)				Reporting and Recordkeeping Requirements for 7 CFR Part 29								
(K)Total/(I)Tot				e						RED		
years, list as "1/6"	& decimal will display.		iiy, i.e., 1/6							8, 2007		
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
					REPORTS				RECORDS	RECORDS		
			NO 05	110.05		1101120		NO. 05		TOTAL		
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	RECORD-		
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)		
29.425	Imported Tobacco Pesticide Residues & End User(s) Certification (Flue-Cured and Burley Tobacco) ((Loss of Authority))	TB-87	0	0.0000	0.00	0.0000	0.00			0.00		
29.429	Disposition of Tobacco Testing ((Loss of Authority)	Letter	0	0.0000	0.00	0.0000	0.00			0.00		
29.430	Appeal of Test Results	Letter	5	2.0000	10.00	0.2500	2.50			0.00		
29.9430	Request for Biographical Sketch for Flue- Cured Tobacco Advisory Committee ((Loss of Authority)	Letter	0	0.0000	0.00	0.0000	0.00			0.00		
FR Notice 4-12-97	Request for Biographical Sketch for Burley Tobacco Advisory Committee ((Loss of Authority)	Letter	0	0.0000	0.00	0.0000	0.00			0.00		
	SUBTOTAL				10.00		2.50	0		0.00		